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1. What mass of carbon dioxide is produced when 25.00 g of liquid methanol reacts with atmospheric oxygen?

2. Sulfur dioxide gas, oxygen gas, and liquid water react together to form sulfuric acid.  How many moles of sulfur dioxide gas are required to produce 265 grams of sulfuric acid?

3. Iron reacts with oxygen to produce iron(III)oxide.  How many moles of iron are needed to produce 5.0 moles of product?

4. If 46 grams of lead(II)carbonate are heated, how many grams of lead(II)oxide will be produced? 

5. 8.1 grams of sodium metal react with an excess of chlorine gas.  How many grams of product are produced?

6. A flask contains 3.00 liters of chlorine gas at STP.  How many grams of magnesium should you add to completely react the chlorine gas?

7. Nitrogen gas reacts with an excess of hydrogen gas to produce ammonia.  How many liters of ammonia can be produced from 420 liters of nitrogen gas? 

8. How many moles copper(II)sulfate is required to completely react with 48 grams of zinc?

9. Excess aluminum reacts with 2.5 moles of bromine.  How many moles of product are produced?

10. 22.02 grams of solid potassium oxide reacts with water to form aqueous potassium hydroxide.  How many grams of potassium hydroxide are produced?
